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Work & Energy
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1. A 50 kg crate is pushed across a loading dock at a warehouse with a constant horizontal force of 300N such that it travels at a constant velocity of 1.5 m/s over a distance of 10 meters.  

a. How much work is done in pushing the crate across the floor?

b. How much work is done by friction? 

c. What is the crate’s kinetic energy?

d. Using the Work-Energy Theorem, determine the amount of net work done on the crate.
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2. The 50 kg crate is now pushed up a 20( incline with constant force of 380N such that it travels at a constant velocity of 1.5 m/s over a distance of 10 meters.  

a. What is the change in gravitational potential energy of the crate?  
b. What is the frictional force acting on the crate?

c. Determine the coefficient of kinetic friction for the crate/slope interface.
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